B VCE & PDF https://lwww.geekcert.com/nse4_fgt-7-0.html
' 2024 Latest geekcert NSE4 FGT-7.0 PDF and VCE dumps Download
: GeekCert.com

NSE4 FGT-7.0%%4

Fortinet NSE 4 - FortiOS 7.0

Pass Fortinet NSE4 FGT-7.0 Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https:/lwww.geekcert.com/nse4_fgt-7-0.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Fortinet
Official Exam Center

@ After Purchase

© Guarantee

@ Free Update STISFACTION GUARRHTEEp
@ Satisfied Customers

Latest NSE4_FGT-7.0 Dumps | NSE4_FGT-7.0 PDF Dumps | NSE4_FGT-7.0 Braindumps 1/4


https://www.geekcert.com/nse4_fgt-7-0.html
https://www.geekcert.com/nse4_fgt-7-0.html
https://www.geekcert.com/nse4_fgt-7-0.html

VCE & PDF https://lwww.geekcert.com/nse4_fgt-7-0.html
2024 Latest geekcert NSE4 FGT-7.0 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

Which statement correctly describes NetAPI polling mode for the FSSO collector agent?

A. The collector agent uses a Windows API to query DCs for user logins.

B. NetAPI polling can increase bandwidth usage in large networks.

C. The collector agent must search security event logs.

D. The NetSession Enum function is used to track user logouts.

Correct Answer: D

Reference: https://kb.fortinet.com/kb/documentLink.do?externallD=FD34906
https://kb.fortinet.com/kb/microsites/search.do?cmd=displayKCanddocType=kcandexternalld=F

D34906andsliceld=1anddocTypelD=DT_KCARTICLE_1 landdialoglD=210966035andstateld=1%2 00%
20210968009%27

QUESTION 2

Refer to the exhibit.

FortiGate

wanz(mm
e ' ) . Webserver
N port3 wan1(port1) &/ 3.0.114.24

Student

Which contains a network diagram and routing table output.
The Student is unable to access Webserver.
What is the cause of the problem and what is the solution for the problem?

A. The first packet sent from Student failed the RPF check. This issue can be resolved by adding a static route to
10.0.4.0/24 through wan1.

Latest NSE4 FGT-7.0 Dumps | NSE4_FGT-7.0 PDF Dumps | NSE4_FGT-7.0 Braindumps 2/4


https://www.geekcert.com/nse4_fgt-7-0.html
https://www.geekcert.com/nse4_fgt-7-0.html
https://www.geekcert.com/nse4_fgt-7-0.html

https://lwww.geekcert.com/nse4_fgt-7-0.html

VCE & PDF
2024 Latest geekcert NSE4 FGT-7.0 PDF and VCE dumps Download

GeekCert.com

B. The first reply packet for Student failed the RPF check. This issue can be resolved by adding a static route to
10.0.4.0/24 through wanl.

C. The first reply packet for Student failed the RPF check. This issue can be resolved by adding a static route to
203.0.114.24/32 through port3.

D. The first packet sent from Student failed the RPF check. This issue can be resolved by adding a static route to
203.0.114.24/32 through port3.

Correct Answer: D

QUESTION 3

Refer to the exhibit to view the application control profile.

o r- 331 | G e " ——
. Client 24 = Aepcae @ FTP. Command 8 NetworkService & AppleiPac b ouens
B Metwork Protocol Erforcement C FaceTime - Ao B Mobile
Ao | Filter Over rides I Facebook_File.Download &8 I Social Media 8 Network Service
1 Facebook File . 8 Social Media 8 Facetin & VolP
+ Mes @ Facebook Messeng - & Colishoration b ¥ FileMaker B General Interest
Pr bet ail Type Act © Facebook B Collaboration ¥ FileMaker Web. Publishing @
I Excessive h Fier Q@B & Facobock @ HITPBROWSER Safari
B3 Appie g © Facebook_Mes @ QuickTim
Il Facebook Video.Play & iC ™ 5t
Name Category Technology Popularity
(S FaceTime I VolP Client-Server

Based on the configuration, what will happen to Apple FaceTime?

A. Apple FaceTime will be blocked, based on the Excessive-Bandwidth filter configuration

B. Apple FaceTime will be allowed, based on the Apple filter configuration.

C. Apple FaceTime will be allowed only if the filter in Application and Filter Overrides is set to Learn
D. Apple FaceTime will be allowed, based on the Categories configuration.

Correct Answer: A

QUESTION 4

Which statements best describe auto discovery VPN (ADVPN). (Choose two.)

A. It requires the use of dynamic routing protocols so that spokes can learn the routes to other spokes.
B. ADVPN is only supported with IKEv2.

C. Tunnels are negotiated dynamically between spokes.

D. Every spoke requires a static tunnel to be configured to other spokes so that phase 1 and phase 2 proposals are
defined in advance.
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Correct Answer: AC

QUESTION 5

You have enabled logging on your FortiGate device for Event logs and all Security logs, and you have set up logging to
use the FortiGate local disk.

What is the default behavior when the local disk is full?

A. Logs are overwritten and the only warning is issued when log disk usage reaches the threshold of 95%.
B. No new log is recorded until you manually clear logs from the local disk.

C. Logs are overwritten and the first warning is issued when log disk usage reaches the threshold of 75%.
D. No new log is recorded after the warning is issued when log disk usage reaches the threshold of 95%.
Correct Answer: C

Reference: https://docs.fortinet.com/document/fortigate/6.4.0/cli-reference/462620/log-disk-setting
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